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Abstract

A triangle ABC is called a triangle with double angle, if « B =22 A. Similarly, a cyclic
quadrilateral ABCD is called a cyclic quadrilateral with double angle if 2B =22A. In
this research, we give an algorithm that generates triangles with double angles and cyclic
quadrilateral with double angles whose sides are integers. Moreover, we generalize the
algorithm to quadrilateral with n'™ Times Angles.
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= (q(n2 - m2) - pmn + gm?> —pmn) [pm2 (q(n2 - m2) —pmn) + (gmn —pmz)(me —pmn)]
= (qn® = 2pmn) [pm® (qn® — qm* — pmn) + (gmn — pm*)(gm?* — pmn)]
= (qn* - 2pmn) [pmen2 —pm?(gm? + pmn) + gmn(qm?* - pmn) - pm?(qgm? —pmn)}
= (an - 2pmn) [qmn(qm2) - 2pm2(qm2)]
= gmn(gmn - 2pm?)(gmn - 2pm?) = (b+d)(b - d)?
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2.3.4 n f%f5 Heron EWNEIUEE
mER > R A,B ¥ D, C M P

il «BCP,=2A,=0°8 «P,= 2P, > il ACBP, ~ AA, P,D,
cp, BP, b d,-CP,-b-BP, =aub

= = — ﬁc
BP,+a, CP,+c dn -b-CP, +d, -BP, =bc
anb-dy, +bc-b  b(and, +bc)

Hl CP, = BT P
Al
0;=AA;D;P; - ACBP; = % smG—fCB CP;sinf
1 d; albd +b2 . a;bd; + b%c .
= 5 3 ~ ) 1n9—fb~Wsm9
1,49 .9 azdﬂ—bc . bln@
= i(di—b)- pEE -sinf = -(a;d; +be)

I ““9 (anordyr + be)

5 ap-1 (a2_; =) =b(a,_1b+ cd, -
Dn:smﬁ.(andn_kbc):smﬁ. 1(n1 ) (an-1 nl)-an_1+bc
2 an,ldn,1+bc

_ sing az_, (ai_l - c2) = ap-1b(ap-1b+ cdp_1) + be(an—1dn-1 + be)

2 Ap-1d,—1 + bc
sin® aZ_; (ai_l - 62) — (an_1b)? + (bc)?
T Ap1dp-1 + bC
sing (ag1-0%)(af i —¢®)  (an1-chy)(ah - bns)
G Gp-1dp-1 + be - (an-1dp-1+bp_1¢n-1)? ol

s 8. EAE —Mf n—1 15 Heron BINIRINEE » il A% bl FolRiB B (R 2 £ HY n
EAEINEDSTY » FEMAERES n A Heron BIAEINSE.

14



3 AKRKEHE
TEOEE L o (A BROE = AL EL o £ RO [ 12 00 35 T B3 K — M

P i

BRI TH n (A BEGH BN RIS BGERIE A E— » HAMR o HA=A
A AL A B U D LB RS - IR B BT AR R BGE R TR & B

||

i E

[l

S TR BHEAE A B EE B N RIS AR E] — AR EE o

2 SRR

=AIEER - R R TR MR 2012 £ 8 A ©
2] 1€ 3,5, 7 HE—RRER =AML ZHIR—BERE > ZIHLE L TRk E -
3] BECEEA—MRR - RED  BER - AT -

= W

15



